BLOW-UP OF POSITIVE-INITIAL-ENERGY SOLUTIONS FOR NONLINEARLY DAMPED SEMILINEAR WAVE EQUATIONS

MOHAMED AMINE KERKER

ABSTRACT. We consider a class of semilinear wave equations with both strongly and nonlinear weakly damped terms,

$$u_{tt} - \Delta u - \omega \Delta u_t + \mu |u_t|^{m-2} u_t = |u|^{p-2} u_t$$

associated with initial and Dirichlet boundary conditions. Under certain conditions, we show that any solution with arbitrarily high positive initial energy blows up in finite time if m < p. Furthermore, we obtain a lower bound for the blow-up time.

1. Introduction

In this contribution, we study the blow-up of solutions of the following initial boundary value problem of a semilinear wave equation:

$$\begin{cases} u_{tt} - \Delta u - \omega \Delta u_t + \mu |u_t|^{m-2} u_t = |u|^{p-2} u, & x \in \Omega, \ t > 0, \\ u(x,t) = 0, & x \in \partial \Omega, \ t > 0, \\ u(x,0) = u_0(x), & u_t(x,0) = u_1(x), & x \in \Omega. \end{cases}$$
(1.1)

Here, Ω is a bounded domain of \mathbb{R}^n with a smooth boundary $\partial\Omega$. Additionally, we assume that

$$u_0 \in H_0^1(\Omega), \quad u_1 \in L^2(\Omega),$$
 (1.2)

and ω , μ , m and p are positive constants, with

$$\begin{cases} 2 (1.3)$$

The linear strong damping term $-\omega \Delta u_t$ appears in models describing Kelvin–Voigt materials that exhibit both elastic and viscous properties, while the nonlinear frictional damping term $\mu |u_t|^{m-2}u_t$ usually models external friction forces such as air resistance acting on the vibrating structures.

²⁰²⁰ Mathematics Subject Classification. 35L05, 35L20, 35B44.

Key words and phrases. Semilinear wave equation; initial boundary value problem; strong damping; finite time blow-up.

In the absence of strong damping ($\omega = 0$), the equation in (1.1) reduces to the nonlinearly damped wave equation

$$u_{tt} - \Delta u + \mu |u_t|^{m-2} u_t = |u|^{p-2} u. \tag{1.4}$$

Eq. (1.4) was first studied by Levine [8] in the case of linear weak damping (m=2). By using the concavity method, he showed that solutions with negative initial energy blow up in finite time. Later, for the case m>2, by using a different method, Georgiev and Todorova [4] established a global existence result for Eq. (1.4) if $m\geq p$ and finite time blow-up if p>m and the initial energy is sufficiently negative.

In the presence of the strong damping term, i.e. $\omega > 0$, Gazzola and Squassina [3] studied (1.4) for m=2. They gave a necessary and sufficient condition for blow-up if E(0) < d, where d is the depth of the potential well. Recently, Yang and Xu [16] gave a sufficient condition for blow-up if E(0) > d. In the case of $\omega > 0$ and m > 2, Yu [17] gave a necessary and sufficient condition for blow-up when E(0) < d. Boukhatem and Benabderrahmane [2] extended the previous work to a semilinear hyperbolic equation for a uniformly elliptic operator with nonlinear damping and source terms. For results of the same nature, we refer the reader to [1, 6, 5, 9, 12, 14, 15, 18] and the references therein.

In related work, Messaoudi [11] considered

$$u_{tt} - \Delta u + \int_0^t g(t - \tau) \Delta u(\tau) d\tau + |u_t|^{m-2} u_t = |u|^{p-2} u.$$
 (1.5)

He proved, for m < p, that solutions with E(0) < d blow up in finite time. Later, by using a modified concavity method, Kafini and Messaoudi [7] established a blow-up result for (1.5) when the damping term is linear. When m > 2, by introducing a new technique, Song [13] obtained a finite time blow-up result for solutions of (1.5) with arbitrarily high initial energy.

In this paper, motivated by the above-cited works, we give sufficient conditions for the finite time blow-up of solutions of (1.1) in both cases: E(0) < 0 and E(0) > 0. Furthermore, we give a lower bound for the blow-up time.

2. Preliminaries

We denote by $\|\cdot\|_p$ the $L^p(\Omega)$ norm $(2 \leq p < \infty)$, and by (\cdot, \cdot) the L^2 inner product. The notation $\langle\cdot,\cdot\rangle$ is used in this paper to denote the duality paring between $H^{-1}(\Omega)$ and $H^1_0(\Omega)$. We introduce the energy functional

$$E(t) := \frac{1}{2} \|\nabla u\|_2^2 + \frac{1}{2} \|u_t\|_2^2 - \frac{1}{p} \|u\|_p^p.$$

By simple calculation we have

$$E'(t) = -\mu \|u_t\|_m^m - \omega \|\nabla u_t\|_2^2 \le 0,$$

which implies that

$$E(t) \le E(0) \quad \forall t \ge 0,$$

and

$$-E'(t) \ge \mu \|u_t\|_m^m, \quad -E'(t) \ge \omega \|\nabla u_t\|_2^2. \tag{2.1}$$

Definition 2.1. By solution of problem (1.1) over [0,T] we mean a function

$$u \in C([0,T], H_0^1(\Omega)) \cap C^1([0,T], L^2(\Omega)) \cap C^2([0,T], H^{-1}(\Omega)),$$

with $u_t \in L^m([0,T], H_0^1(\Omega))$, such that $u(0) = u_0, u_t(0) = u_1$ and

$$\langle u_{tt}(t), \eta \rangle + \int_{\Omega} \nabla u(t) \nabla \eta \, dx + \omega \int_{\Omega} \nabla u_{t}(t) \nabla \eta \, dx + \mu \int_{\Omega} |u(t)|^{m-2} u_{t}(t) \eta \, dx = \int_{\Omega} |u|^{p-2} u \eta \, dx$$

for all $\eta \in H_0^1(\Omega)$ and a.e. $t \in [0, T]$.

Theorem 2.2 ([17]). Assume that conditions (1.2) and (1.3) hold. Then the problem (1.1) admits a unique local solution defined on [0,T]. Moreover, if

$$T_{\max} := \sup \{T > 0 : u = u(t) \text{ exists on } [0, T]\} < \infty,$$

then

$$\lim_{t\to T_{\max}}\|u(t)\|_q=\infty \quad \text{ for all } q\geq 1 \text{ such that } q>\frac{n(p-2)}{2}.$$

3. Blow-up with negative initial energy

In this section we show that the solution of (1.1) blows up in finite time if m < p and E(0) < 0. To prove the main result in this section, we define H(t) := -E(t) and we use the following lemma. For the proof, see [10].

Lemma 3.1. Suppose (1.3) holds. Then we have

$$||u||_p^s \le C \left[|H(t)| + ||u_t||_2^2 + ||u||_p^p \right]$$

for any $u \in H_0^1(\Omega)$ and $2 \le s \le p$.

Theorem 3.2. Suppose (1.2) and (1.3) hold. Assume further that $p > m \ge 2$ and E(0) < 0. Then the solution of the problem (1.1) blows up in finite time.

Proof. To obtain a contradiction, we suppose that the solution of (1.1) is global; then, for every fixed T > 0, there exists a constant K > 0 such that

$$\max\left\{\|\nabla u\|_{2}^{2}, \|u_{t}\|_{2}^{2}, \|u\|_{p}^{p}\right\} \le K \qquad \forall t \in [0, T]. \tag{3.1}$$

We have $H'(t) = -E'(t) \ge 0$, which together with E(0) < 0 shows that

$$0 < H(0) \le H(t) \le \frac{1}{p} ||u||_p^p; \tag{3.2}$$

furthermore,

$$\mu \|u_t\|_m^m \le H'(t).$$
 (3.3)

We now define an auxiliary function

$$L(t) := H^{1-\alpha}(t) + \varepsilon (u_t, u) + \varepsilon \frac{\omega}{2} ||\nabla u||_2^2,$$

for ε small (to be chosen later) and

$$0<\alpha\leq \min\left\{\frac{p-2}{2p},\frac{p-m}{p(m-1)}\right\}<\frac{1}{2}.$$

By taking the derivative of L(t) we obtain

$$L'(t) = (1 - \alpha)H'(t)H^{-\alpha}(t) + \varepsilon \langle u_{tt}, u \rangle + \varepsilon ||u_t||_2^2 + \varepsilon \omega(\nabla u_t, \nabla u).$$
 (3.4)

Using (1.1), the equation (3.4) takes the form

$$L'(t) = (1 - \alpha)H'(t)H^{-\alpha}(t) - \varepsilon \|\nabla u\|_{2}^{2} + \varepsilon \|u_{t}\|_{2}^{2} + \varepsilon \|u\|_{p}^{p} - \varepsilon \mu(|u_{t}|^{m-2}u_{t}, u).$$
(3.5)

To estimate the last term in the right-hand side of (3.5), we use Young's inequality

$$(|u_t|^{m-2}u_t, u) \le \frac{\delta^m}{m} ||u||_m^m + \frac{m-1}{m} \delta^{m/(1-m)} ||u_t||_m^m \qquad \forall \delta > 0.$$
 (3.6)

By taking

$$\delta = \left[kH^{-\alpha}(t) \right]^{\frac{1-m}{m}},$$

for a large constant k to be chosen later, (3.6) becomes

$$(|u_t|^{m-2}u_t, u) \le \frac{1}{m} \left[kH^{-\alpha}(t) \right]^{1-m} ||u||_m^m + \frac{m-1}{m} kH^{-\alpha} ||u_t||_m^m. \tag{3.7}$$

Combining (3.5) and (3.7), and using (3.3), yields

$$L'(t) \ge \left[1 - \alpha - \varepsilon k \frac{m-1}{m}\right] H'(t) H^{-\alpha}(t) - \varepsilon \|\nabla u\|_2^2 + \varepsilon \|u\|_p^p + \varepsilon \|u_t\|_2^2 - \frac{\varepsilon \mu}{m} \left[kH^{-\alpha}(t)\right]^{1-m} \|u\|_m^m.$$

$$(3.8)$$

By using (3.2), we obtain

$$H^{\alpha(m-1)}(t)\|u\|_{m}^{m} \leq p^{-\alpha(m-1)}\|u\|_{p}^{p\alpha(m-1)}\|u\|_{m}^{m},$$

and hence by the inequality

$$||u||_m \le C||u||_p,$$

we get

$$H^{\alpha(m-1)}(t)\|u\|_{m}^{m} \le Cp^{-\alpha(m-1)}\|u\|_{p}^{p\alpha(m-1)+m}.$$
(3.9)

Thus, by (3.9) and Lemma 3.1, for $s = p\alpha(m-1) + m \le p$, we obtain

$$H^{\alpha(m-1)}(t)\|u\|_m^m \le Cp^{-\alpha(m-1)}\left[H(t) + \|u_t\|_2^2 + \|u\|_p^p\right].$$

Therefore, in view of the last inequality, (3.8) becomes

$$L'(t) \ge \left[1 - \alpha - \varepsilon k \frac{m-1}{m}\right] H'(t) H^{-\alpha}(t) + \frac{\varepsilon}{2} (p-2) \|\nabla u\|_2^2 + \frac{\varepsilon}{2} (p+2) \|u_t\|_2^2 + \varepsilon \left\{ pH(t) - \lambda k^{1-m} \left[H(t) + \|u_t\|_2^2 + \|u\|_p^p \right] \right\},$$
(3.10)

where

$$\lambda = Cp^{-\alpha(m-1)} \frac{\mu}{m}.$$

Writing p = (p+2)/2 + (p-2)/2 in (3.10) yields

$$L'(t) \ge \gamma_1 H'(t) H^{-\alpha}(t) + \gamma_2 H(t) + \gamma_3 \|u_t\|_2^2 + \gamma_4 \|u\|_p^p + \gamma_5 \|\nabla u\|_2^2, \tag{3.11}$$

where

$$\gamma_1 = 1 - \alpha - \varepsilon k \frac{m-1}{m}, \qquad \gamma_2 = \varepsilon \left(\frac{p+2}{2} - \lambda k^{1-m}\right),$$

$$\gamma_3 = \varepsilon \left(\frac{p+6}{4} - \lambda k^{1-m}\right), \quad \gamma_4 = \varepsilon \left(\frac{p-2}{2p} - \lambda k^{1-m}\right),$$

$$\gamma_5 = \frac{\varepsilon}{4}(p-2) > 0.$$

We choose now k large enough such that the coefficients γ_i , for $2 \le i \le 4$, are positive. Once k is fixed, we choose ε small enough such that

$$\gamma_1 > 0$$
 and $L(0) > 0$.

Hence, the inequality (3.11) becomes

$$L'(t) \ge A \left[H(t) + \|u_t\|_2^2 + \|u\|_p^p \right] \tag{3.12}$$

for some constant A > 0. Consequently, we have

$$L(t) \ge L(0) > 0$$
 for all $t \ge 0$.

Next, by using Hölder's and Young's inequalities, we obtain

$$|(u_t, u)|^{1/(1-\alpha)} \le ||u_t||_2^{1/(1-\alpha)} ||u||_2^{1/(1-\alpha)}$$

$$\le C \left[||u_t||_2^{s/(1-\alpha)} + ||u||_2^{r/(1-\alpha)} \right]$$

for 1/s + 1/r = 1. We take $s = 2(1 - \alpha)$, which gives

$$\frac{s}{(1-\alpha)} = 2 \quad \text{and} \quad \frac{r}{(1-\alpha)} = \frac{2}{(1-2\alpha)} \le p.$$

Therefore, by using Lemma 3.1, we obtain

$$|(u_t, u)|^{1/(1-\alpha)} \le C \left[H(t) + ||u_t||_2^2 + ||u||_p^p \right].$$
 (3.13)

From (3.1) and (3.2), we have

$$\|\nabla u\|^{2/(1-\alpha)} \le K^{1/(1-\alpha)} \le K^{1/(1-\alpha)} \frac{H(t)}{H(0)}.$$
(3.14)

So, by using Jensen's inequality, we get

$$L(t)^{1/(1-\alpha)} \le C \left[H(t) + |(u_t, u)|^{1/(1-\alpha)} + ||\nabla u||^{2/(1-\alpha)} \right],$$

and by combining it with (3.13) and (3.14), we deduce

$$L(t)^{1/(1-\alpha)} \le B \left[H(t) + \|u_t\|_2^2 + \|u\|_p^p \right]. \tag{3.15}$$

From the inequalities (3.12) and (3.15), we finally obtain the differential inequality

$$L'(t) \ge DL(t)^{1/(1-\alpha)} \tag{3.16}$$

for some D > 0. A simple integration of (3.16) over (0, t) immediately yields

$$L(t) \ge \left[L^{-\alpha/(1-\alpha)}(0) - \frac{\alpha D}{1-\alpha} t \right]^{1-1/\alpha}, \tag{3.17}$$

which shows that the functional L(t) blows up in finite time.

Remark 3.3. From (3.17) we obtain the following upper bound of the blow-up time:

$$T_{\text{max}} \le \frac{1-\alpha}{\alpha D} \left[L(0) \right]^{1-1/\alpha}.$$

4. Blow-up with positive initial energy

In this section, we consider the blow-up of solutions of the problem (1.1) when E(0) > 0. To prove the main theorem of this paper, we employ the following lemma.

Lemma 4.1. If 2 < m < p then

$$\frac{1}{m} \|u\|_m^m \le \frac{s}{2} \|u\|_2^2 + \frac{1-s}{p} \|u\|_p^p, \qquad \text{where } s = \frac{p-m}{p-2}.$$

Proof. By the convexity of the function u^x/x for $u \ge 0$ and x > 0.

Theorem 4.2. Suppose (1.2) and (1.3) hold. Assume further that $p > m \ge 2$. If the solution of (1.1) satisfies

$$(u_t(0), u(0)) > ME(0) > 0 (4.1)$$

for some M > 0 to be specified later in the proof, then u(t) blows up in finite time.

Proof. Assume, towards a contradiction, that u(t) is a global solution of (1.1). Setting $F(t) := \frac{1}{2} ||u(t)||_2^2$, it follows from (1.1) that

$$F''(t) = \|u_t(t)\|_2^2 + \|u(t)\|_p^p - \|\nabla u(t)\|_2^2 - \omega(\nabla u_t, \nabla u) - \mu(|u_t|^{m-2}u_t, u).$$
 (4.2)

By using Hölder's and Young's inequalities, we estimate the last two terms in the right-hand side of the previous equation as follows:

$$(\nabla u_t, \nabla u) \le \eta \|\nabla u\|_2^2 + \frac{1}{4\eta} \|\nabla u_t\|_2^2, \quad \eta > 0,$$

$$(|u_t|^{m-2}u_t, u) \le \frac{1}{m} \delta^m \|u\|_m^m + \frac{m-1}{m} \delta^{m/(1-m)} \|u_t\|_m^m, \quad \delta > 0.$$

So, by Lemma 4.1, we get

$$\frac{\delta^m}{m} \|u\|_m^m \leq \frac{s}{2} \delta^m \|u\|_2^2 + \frac{1-s}{p} \delta^m \|u\|_p^p.$$

Hence, (4.2) becomes

$$F''(t) \ge \|u_t(t)\|_2^2 - (1 + \omega \eta) \|\nabla u(t)\|_2^2 + \left[1 - \frac{\mu(1-s)}{p} \delta^m\right] \|u(t)\|_p^p$$
$$- \frac{\mu s}{2} \delta^m \|u(t)\|_2^2 - \frac{\omega}{4\eta} \|\nabla u_t(t)\|_2^2 - \mu \frac{m-1}{m} \delta^{-\frac{m}{m-1}} \|u_t(t)\|_m^m.$$

Adding and subtracting $p(1-\varepsilon)E(t)$ for $\varepsilon \in (0,1)$ in the right-hand side of the last inequality, and using (2.1) and the Poincaré inequality, we obtain

$$\frac{d}{dt} \left\{ \frac{dF(t)}{dt} - \left[\frac{1}{4\eta} + \frac{m-1}{m} \delta^{-\frac{m}{m-1}} \right] E(t) \right\} \\
\geq F''(t) + \frac{\omega}{4\eta} \|\nabla u_t(t)\|_2^2 + \mu \frac{m-1}{m} \delta^{-\frac{m}{m-1}} \|u_t(t)\|_m^m \\
\geq \|u_t(t)\|_2^2 - (1 + \omega \eta) \|\nabla u(t)\|_2^2 \\
+ \left[1 - \frac{\mu(1-s)}{p} \delta^m \right] \|u(t)\|_p^p - \frac{\mu}{2} \delta^m \|u(t)\|_2^2 \\
\geq \left[1 + \frac{p}{2} (1 - \varepsilon) \right] \|u_t(t)\|_2^2 + \left[\frac{p}{2} (1 - \varepsilon) - (1 + \omega \eta) \right] \|\nabla u(t)\|_2^2 \\
+ \left[\varepsilon - \frac{\mu(1-s)}{p} \delta^m \right] \|u(t)\|_p^p - \frac{\mu s}{2} \delta^m \|u(t)\|_2^2 - p(1 - \varepsilon) E(t) \\
\geq \left[1 + \frac{p}{2} (1 - \varepsilon) \right] \|u_t(t)\|_2^2 + \left\{ \alpha(\varepsilon) B - \frac{\mu s}{2} \delta^m \right\} \|u(t)\|_2^2 \\
+ \left[\varepsilon - \frac{\mu(1-s)}{p} \delta^m \right] \|u(t)\|_p^p - p(1 - \varepsilon) E(t),$$

where

$$\alpha(\varepsilon) = \frac{p}{2}(1 - \varepsilon) - (1 + \omega \eta)$$

and B is the best constant of the Poincaré inequality

$$\|\nabla u\|_2^2 \ge B\|u\|_2^2.$$

Therefore, taking $\eta = \varepsilon$ and

$$\delta = \left[\frac{p\varepsilon}{\mu(1-s)} \right]^{1/m},$$

setting

$$\gamma_1(\varepsilon) = \frac{1}{4\varepsilon} + \frac{m-1}{m} \left(\frac{1-s}{p\varepsilon}\right)^{-\frac{1}{m-1}}$$

and substituting in (4.3), we arrive at

$$\frac{d}{dt} \left[F'(t) - \gamma_1(\varepsilon) E(t) \right] \ge \left[1 + \frac{p}{2} (1 - \varepsilon) \right] \|u_t(t)\|_2^2
+ \left[\alpha(\varepsilon) B - \frac{ps}{2(1 - s)} \varepsilon \right] \|u(t)\|_2^2 - p(1 - \varepsilon) E(t).$$

Hence, we choose ε small enough such that

$$\alpha(\varepsilon)B - \frac{ps}{2(1-s)}\varepsilon > 0.$$

By using the Schwarz inequality, we have

$$2\left[1 + \frac{p}{2}(1 - \varepsilon)\right]^{1/2} \left[\alpha(\varepsilon)B - \frac{ps}{2(1 - s)}\varepsilon\right]^{1/2} (u_t, u)$$

$$\leq \left[1 + \frac{p}{2}(1 - \varepsilon)\right] \|u_t(t)\|_2^2 + \left[\alpha(\varepsilon)B - \frac{ps}{2(1 - s)}\varepsilon\right] \|u(t)\|_2^2.$$

Consequently, we obtain

$$\frac{d}{dt} \left[F'(t) - \gamma_1(\varepsilon) E(t) \right] \ge \beta(\varepsilon) (u_t, u) - p(1 - \varepsilon) E(t)
= \beta(\varepsilon) \left[F'(t) - \gamma_2(\varepsilon) E(t) \right],$$
(4.4)

where

$$\beta(\varepsilon) = 2 \left[1 + \frac{p}{2} (1 - \varepsilon) \right]^{1/2} \left[\alpha(\varepsilon) B - \frac{ps}{2(1 - s)} \varepsilon \right]^{1/2},$$
$$\gamma_2(\varepsilon) = \frac{p(1 - \varepsilon)}{\beta(\varepsilon)}.$$

Since

$$\alpha(\varepsilon)B - \frac{ps}{2(1-s)}\varepsilon \to \begin{cases} \frac{2B}{p-2} > 0 & \text{as } \varepsilon \to 0^+, \\ -\frac{B}{1+\omega} - \frac{ps}{2(1-s)} < 0 & \text{as } \varepsilon \to 1^-, \end{cases}$$

there exists $\varepsilon_* \in (0,1)$ such that

$$\beta(\varepsilon_*) = 0$$
 and $\beta(\varepsilon) > 0 \ \forall \varepsilon \in (0, \varepsilon_*).$

Hence, we have

$$\gamma_1(\varepsilon) - \gamma_2(\varepsilon) \to \begin{cases} +\infty & \text{as } \varepsilon \to 0^+, \\ -\infty & \text{as } \varepsilon \to \varepsilon_*^-. \end{cases}$$

Therefore, there exists $\varepsilon_0 \in (0, \varepsilon_*)$ such that $\gamma_1(\varepsilon_0) = \gamma_2(\varepsilon_0) > 0$. So, by setting

$$L(t) = F'(t) - \gamma_1(\varepsilon_0)E(t),$$

$$M = \gamma_1(\varepsilon_0),$$

and by using (4.1), we obtain

$$L(0) = (u_t(0), u(0)) - \gamma_1(\varepsilon_0)E(0)$$

> $(u_t(0), u(0)) - ME(0) > 0.$

Moreover, with this choice of ε_0 , (4.4) becomes

$$\frac{d}{dt}L(t) \ge \beta(\varepsilon_0)L(t),$$

which gives

$$L(t) \ge L(0)e^{\beta(\varepsilon_0)t} \qquad \forall t \ge 0.$$

Since u(t) is global and E(0) > 0, by Theorem 3.2 we have that E(t) > 0 for all $t \ge 0$. Hence, we arrive at the inequality

$$F'(t) \ge L(0)e^{\beta(\varepsilon_0)t} \qquad \forall t \ge 0.$$

By integrating this inequality over (0, t), we get

$$||u(t)||_2^2 = 2F(t) \ge 2F(0) + 2\frac{L(0)}{\beta(\varepsilon_0)} \left[e^{\beta(\varepsilon_0)t} - 1 \right] \quad \forall t \ge 0.$$
 (4.5)

On the other hand, by using Hölder's inequality and (2.1), we have

$$\begin{split} \|u(t)\|_2 & \leq \|u(0)\|_2 + \int_0^t \|u_\tau(\tau)\|_2 \, d\tau \\ & \leq \|u(0)\|_2 + C \int_0^t \|u_\tau(\tau)\|_m \, d\tau \\ & \leq \|u(0)\|_2 + C t^{\frac{m-1}{m}} \int_0^t \|u_\tau(\tau)\|_m^m \, d\tau \\ & \leq \|u(0)\|_2 + C t^{\frac{m-1}{m}} \int_0^t \frac{-1}{\mu} \frac{dE(\tau)}{d\tau} \, d\tau \\ & \leq \|u(0)\|_2 + C t^{\frac{m-1}{m}} \left[\frac{E(0) - E(t)}{\mu} \right]^{1/m} \\ & \leq \|u(0)\|_2 + C \left[\frac{E(0)}{\mu} \right]^{1/m} t^{\frac{m-1}{m}}, \end{split}$$

which clearly contradicts (4.5).

5. Lower bound for the blow-up time

In this section, we give a lower bound for the blow-up time $T_{\rm max}$. To this end, we define

$$G(t) := \frac{1}{2} \|\nabla u\|_2^2 + \frac{1}{2} \|u_t\|_2^2.$$

Theorem 5.1. Assume that (1.2) and (1.3) hold, and let u be the solution of (1.1), which blows up at a finite T_{max} . Then

$$T_{\text{max}} \ge \int_{G(0)}^{+\infty} \left\{ A_1 + A_2 \sigma^{\beta/2} \right\}^{-1} d\sigma,$$

where β , A_1 and A_2 are positive constants to be determined later in the proof.

Proof. By differentiating G(t) and using (1.1), we obtain

$$G'(t) = (\nabla u_t, \nabla u) + \langle u_{tt}, u_t \rangle$$

$$= (\nabla u_t, \nabla u) + (\Delta u, u_t) + \omega(\Delta u_t, u_t) - \mu \|u_t\|_m^m + (|u|^{p-2}u, u_t)$$

$$= -\omega \|\nabla u_t\|_2^2 - \mu \|u_t\|_m^m + (|u|^{p-2}u, u_t).$$

Thus,

$$G'(t) \le -\omega \|\nabla u_t\|_2^2 + (|u|^{p-1}, |u_t|). \tag{5.1}$$

Using Hölder's inequality, Young's inequality and the Sobolev inequality

$$||v||_q \le B_q ||\nabla v||_q \qquad \forall q \in [1, 2^*], \ \forall v \in H_0^1(\Omega),$$

we get

$$(|u|^{p-1}, |u_{t}|) \leq ||u_{t}||_{p} ||u||_{p}^{p-1}$$

$$\leq ||u_{t}||_{p}^{\alpha} + C_{1} ||u||_{p}^{\beta}$$

$$\leq B_{p}^{\alpha} ||\nabla u_{t}||_{p}^{\alpha} + C_{2} ||\nabla u||_{2}^{\beta}$$

$$\leq A_{1} + ||\nabla u_{t}||_{2}^{2} + A_{2} (G(t))^{\beta/2},$$

$$(5.2)$$

where $1 < \alpha < 2$ is some positive constant, $\beta = \alpha(p-1)/(\alpha-1)$ and

$$C_1 = (\alpha - 1)\alpha^{-\alpha/(\alpha - 1)},$$
 $C_2 = C_1 B_p^{\beta},$ $A_1 = (2 - \alpha)2^{-2/(2 - \alpha)} B_p^{2\alpha/(2 - \alpha)} \alpha^{\alpha/(2 - \alpha)},$ $A_2 = C_2 2^{\beta/2}.$

Combining (5.2) and (5.1) gives

$$G'(t) \le A_1 + A_2(G(t))^{\beta/2}. (5.3)$$

Finally, integrating inequality (5.3) over $(0, T_{\text{max}})$ we get

$$T_{\text{max}} \ge \int_0^{T_{\text{max}}} \left\{ A_1 + A_2(G(\tau))^{\beta/2} \right\}^{-1} G'(\tau) d\tau,$$

and so

$$T_{\text{max}} \ge \int_{G(0)}^{+\infty} \left\{ A_1 + A_2 \sigma^{\beta/2} \right\}^{-1} d\sigma. \qquad \Box$$

References

- [1] K. Baghaei, Lower bounds for the blow-up time in a superlinear hyperbolic equation with linear damping term, *Comput. Math. Appl.* **73** (2017), no. 4, 560–564. MR 3606353.
- [2] Y. Boukhatem and B. Benabderrahmane, Blow up of solutions for a semilinear hyperbolic equation, Electron. J. Qual. Theory Differ. Equ. 2012, no. 40, 12 pp. MR 2920963.
- [3] F. Gazzola and M. Squassina, Global solutions and finite time blow up for damped semilinear wave equations, Ann. Inst. H. Poincaré C Anal. Non Linéaire 23 (2006), no. 2, 185–207. MR 2201151.
- [4] V. Georgiev and G. Todorova, Existence of a solution of the wave equation with non-linear damping and source terms, J. Differential Equations 109 (1994), no. 2, 295–308. MR 1273304.
- [5] S. Gerbi and B. Said-Houari, Local existence and exponential growth for a semilinear damped wave equation with dynamic boundary conditions, Adv. Differential Equations 13 (2008), no. 11-12, 1051-1074. MR 2483130.
- [6] B. Guo and F. Liu, A lower bound for the blow-up time to a viscoelastic hyperbolic equation with nonlinear sources, Appl. Math. Lett. 60 (2016), 115–119. MR 3505862.
- [7] M. Kafini and S. A. Messaoudi, A blow-up result in a nonlinear viscoelastic problem with arbitrary positive initial energy, Dyn. Contin. Discrete Impuls. Syst. Ser. A Math. Anal. 20 (2013), no. 6, 657–665. MR 3134526.
- [8] H. A. Levine, Some additional remarks on the nonexistence of global solutions to nonlinear wave equations, SIAM J. Math. Anal. 5 (1974), 138–146. MR 0399682.

- [9] H. A. Levine and G. Todorova, Blow up of solutions of the Cauchy problem for a wave equation with nonlinear damping and source terms and positive initial energy, *Proc. Amer. Math. Soc.* 129 (2001), no. 3, 793–805. MR 1792187.
- [10] S. A. Messaoudi, Blow up in a nonlinearly damped wave equation, Math. Nachr. 231 (2001), no. 1, 105–111. MR 1866197.
- [11] S. A. Messaoudi, Blow-up of positive-initial-energy solutions of a nonlinear viscoelastic hyperbolic equation, J. Math. Anal. Appl. 320 (2006), no. 2, 902–915. MR 2226003.
- [12] G. A. Philippin, Lower bounds for blow-up time in a class of nonlinear wave equations, Z. Angew. Math. Phys. 66 (2015), no. 1, 129–134. MR 3304710.
- [13] H. Song, Blow up of arbitrarily positive initial energy solutions for a viscoelastic wave equation, Nonlinear Anal. Real World Appl. 26 (2015), 306–314. MR 3384338.
- [14] G. Todorova and E. Vitillaro, Blow-up for nonlinear dissipative wave equations in \mathbb{R}^n , J. *Math. Anal. Appl.* **303** (2005), no. 1, 242–257. MR 2113879.
- [15] E. Vitillaro, Global nonexistence theorems for a class of evolution equations with dissipation, Arch. Ration. Mech. Anal. 149 (1999), no. 2, 155–182. MR 1719145.
- [16] Y. Yang and R. Xu, Nonlinear wave equation with both strongly and weakly damped terms: supercritical initial energy finite time blow up, Commun. Pure Appl. Anal. 18 (2019), no. 3, 1351–1358. MR 3917710.
- [17] S. Yu, On the strongly damped wave equation with nonlinear damping and source terms, Electron. J. Qual. Theory Differ. Equ. 2009, no. 39, 18 pp. MR 2511292.
- [18] J. Zhou, Lower bounds for blow-up time of two nonlinear wave equations, Appl. Math. Lett. 45 (2015), 64–68. MR 3316963.

Mohamed Amine Kerker

Laboratory of Applied Mathematics, Badji Mokhtar-Annaba University, P.O. Box 12, Annaba, 23000, Algeria

 $mohamed-amine.kerker@univ-annaba.dz; \ a_kerker@yahoo.com$

Received: July 14, 2020 Accepted: February 18, 2021